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RAR widR 3. 6,00,000
YR UIdR wsUELS 3. 25
AseL Y SRA and 25%

2 MR 'RK' addl 2is vl Riseldl ©. id aael 3.2, 20
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ENGLISH VERSION

Instructions: (1) The figures on the right side indicate marks.
(2) Working note 1s the part of your answer.

1 Urmee Ltd. has two divisions. Division X and Y. Division X 20
has budgeted selling 2,00,000 units of components-M to fetch
a return of 20% on average capital employed. The following
particulars are available for division X:

Particulars Rs.
Fixed cost - annual 5,00,000
Variable cost - per unit 1
Average employed Assets:
Sundry debtors 2,00,000
Stock 5,00,000
Plant - Machinery 5,00,000

However, only 1,50,000 units of M can be directly sold to the
market at the propose price. The balance 50,000 units of M can
be taken by division Y. Division X want to price of Rs. 4 per
unit from division Y. Division Y is ready to pay Rs. 2 per unit.
Division X has another option, which is to produce only 1,50,000
units of component M. Result of this reduce the holding of assets
by Rs. 2,00,000 and fixed cost by Rs. 25,000.

Which option will you recommend?

OR
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1  From the following details of Raj Ltd. ascertain the transfer 20
price on the basis of cost plus profit method.

Particulars Rs.
Investment in fixed Assets Rs. 8,00,000
Investment in current Assets Rs. 7,00,000
Estimated production (Units annually) (Units) 15,000
Fixed cost Rs. 6,00,000
Variable cost per unit Rs. 25
Expected return on ivestment 25%
2 'RK' Bros. of Jamnagar has a branch in Chicago. Its currency 20

is U.S. Dollar (8). The following is the trail balance of Chicago

branch as on 31-03-2022:

Particulars Debit Bal. | Credit Bal.
(&) (&)

Opening stock 10,000 -
Purchases - Sales 22,500 55,000
Head office Account - 82,000
Debtors - Creditors 3,000 2,000
Cash & Bank Balance 1,500 -
Fixed Assets 92,000 -
Rent 2,000 -
Administration Exp. 5,000 -
Sundry Exp. 3,000 -
1,39,000 1,39,000

The Debit balance of branch account was Rs. 55,00,000 in the
books of head office. The closing stock at branch was valued at
8,000 $ on 31-3-2022. Calculate depreciation of fixed asset at
10% p.a. The fixed assets were purchased on 1-4-2021. The

exchange rates are as under:

Date 1-4-2021 1 $=Rs. 70
Date 31-3-2022 1 $=Rs. 74
Average Rate 1 $§=Rs 72

From the above information prepare Branch Trading A/c., P &
L A/c and Balance Sheet in the books of head office.
Exchange difference must be shown in Profit & Loss Account.
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2 The Kethi Ltd. commenced manufacturing readymade garment 20
business from Dt. 1-4-2021. It has produced 60,000 units upto
the year Dt. 31-3-2022 at a cost of Rs. 50 per unit.

1
The company sold 335% units of total production to Ahmedabad

situated wholesale trader at a wholesale price and 50% units of
total production sent to the vadodara based branch at a wholesale
price. At the end of the year stock remained unsold with head
office 1,000 units, 2,000 units with wholesale Trader and 2000
units with wholesale branch respectively.

Head office and branch have incurred selling expense of Rs. 10
per unit sold on M.R.P. basis. The wholesale price and M.R.P.
fixed by H.O. were as follows

M.R.P. = cost + 25% of cost

Wholesale Price = M.R.P. — 20% of M.R.P.

You are required to find closing stock reserve of the branch.
Calculate Gross profit and Net profit of H.O. & branch.

3  On 31-12-2021 Raj Ltd. imported the goods of $ 3,00,000 15
from ABC Co. Ltd. of U.S. Chicago for re-sales. The payment
of these goods was made on 22-6-2022.

Account was prepared on 315t March every year. The exchange
rates were as under:
Dt. 31-12-2021 1$=Rs 70
Dt 31-03-2022 1 $=Rs 65
Dt. 22-06-2022 1$=Rs 74
According to the Accounting Standard No. 11, Do necessary
dealing notes in the accounting books of Raj Ltd.
OR

3  Explain meaning of foreign currency exchange and discuss 15

various accounting methods of foreign currency translation.
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4  Write short notes on: (Any two)
(1) Multinational Corporation
(11) List of International Accounting Standards
(i11) Need of Indian Accounting Standards

(1iv) Accounting Conventions.
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